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Bridge

   Famous Hand
.

 This deal occurred in a team-of-four
match between Austria and Hungary
played in Vienna way back in 1937!

Certainly the North-South hands jus-
tified a grand slam in spades, but at both
tables the contract was only six spades.
Even the small slam would have failed
but for an extraordinary safety play in-
voked by both declarers.

At each table, the opening lead was a
heart, and at each table declarer played
the king of spades at trick two followed
by the deuce of diamonds at trick three!

 West won the diamond with the seven
but was helpless. Whatever he returned,
declarer would ruff a diamond in
dummy with the ace, return a trump and
finesse the nine, then draw East’s
trumps and claim the rest.

 Not many players would lead a low
diamond at trick three. Probably most
declarers, after taking the ace of hearts
and king of spades, would have played
the ace of diamonds, planning next to
ruff a diamond high in dummy and thus
make seven. But East would have ruffed
the ace of diamonds, and South would
have lost the slam, regardless of how he
proceeded from then on.

 It is a great tribute to the bridge played
in those days that both declarers allowed
for a 5-0 diamond break and protected
against it. They were each willing to
sacrifice a 30-point trick to ensure a
slam worth 50 times as much as the trick
they were willing to give away.

   Tomorrow: Life is but an
empty dream.

Family Circus • Bil Keane
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts
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Conceptis Sudoku by Dave Green

Difficulty Level 3/26


